HEEVA L eNNA 7L ‘ BESEIS R XHY

07

Other Pneumatic
Equipments

SCW
MKY
TKY

WP
WNS
WHV

Wu

689

07 Other Pneumatic Equipments

WP-C..

AVINGNIALT Ty a1 #F

C FROY SV TREEEERL—ID BRI D

( Fa—FwRIVINRyFUERA. BEERTES

THERE )

( PA+F/G(RU7 SF) Bl £ BERA

)

CONVUM

ERE B (=]
1 DDEY UM PA+F/G(RU7ZR)
2 RN HFEIRT A DR
3 OvoYvy SUsS
4 ouvy NBR
5 N7 PA+F/G ((RY 7 I R)
6 XAIWTEITH iR
7 IACES NBR
8 Ny ouvy Cib e P S
9 RAUY—hEOY VY NBR

%
EH iva
fEFE ERER

{ERRESHE ‘C 0~60(BLURSELAWNCE)
RafEREN MPa 0.9
RIEERED kPa -100
BRAF21—7 RUILIYFa—T

F) EREANIFBE20CORDETY .



WP-C

AVIRGNIAT T2 a1 VilF

=]
= £
ﬁ/ﬁ%? E
i3
i
WPC — 06 — 01 C %) X OB BT, g
@ @ ©) E
. =
ARG NIAT s
K
E/
i @EAF 2—7 NP 7
OFRAR HEEF(mm) G@RUYAX ?;
WPC-C AXAL)aAxRI 5 WPGJ-C | LTa—1% 04 4 M3 M3X0.5 >
WPL-C XA )LT)LR WPLJ-C | T)Laxs ¥ 06 6 M5 M5X0.8 ,:rL
WPT-C AAIWNTZFF« WPY-C A=AV 74 01 R1/8 %E
WPLL-C | OV Z XA J)LTILR WPYJ-C | 7S5vFa1=A>v7+ #
WPUC-C| 1=4Y> WPG-C | ER1=A*Y
WPUL-C | 2=A4>T)LR WPW-C | ER1=A>74
WPUT-C | 2=A4>F7 41— WPWJ-C | ERNTSVFI1=AVTA
NETIER
(mm)
XLIARI S i A B C éD E b H R BHE(g)
WPC04-M3C 3.0 15.5 105 - 8.0 M3X0.5 2.9
WPC04-M5C 35 15.7 15 4 - ’ M5x%0.8 3.2
WPCO04-01C 8.0 15.0 ’ 3.9 R1/8 6.0
WPCO06-M5C 3.5 16.3 1.7 6 - 10.0 M5X0.8 3.8
WPCO06-01C 8.0 18.5 ’ 3.9 R1/8 53

) RRUDRUAHRSE DSETE

07

Other Pneumatic
Equipments

A1 ILTILR iz A B c | D | E Fo | H | ¢P R | #2(9) SCw
WPLO4-M3C | 30 | 158 - M3x05
WPLO4-M5C | 35 | 151 | 113 | 4 | 152 | - | 89 | g0 |msx0g °3° MKY
WPL04-01C | 80 | 167 39 | 100 R1/8 | 61 TKY
WPLOG-M5C | 35 | 150 Y, M5x08| 3.9 —
WPL06-01C | 80 | 180 | /| & [ 185 35 00| 9% [Rijs | 68 WP
) RRUORUABES DSETE m
WNS
r o —_—
S WHYV
- RV
WU
ALWITZVFT1— ezt A B (¢ éD E F® | H ¢ P R EE(9)
WPT04-M5C 3.5 15.4 - 8.0 M5X0.8 4.1
wpPT04-01C | 80 | 170 | "3 | 4 |27 T35 00| 8% [Rijs | 69
WPTO6-M5C | 35 | 164 - [ 80 M5x08| 54
— wPT06-01C | 80 | 180 | /| & [ 140 595 00| %% [Rijs | 82
J ) RRUDRUAHRRSDESETE
o
— 1S
o
<}

690



WPC-C =PV L R 8% = 2

g
fg NF~ER
B (mm)
b))
1
B 0> X1 LTILR o AT B | cCc [epD| E [Fn| H | 6P| R |®E(o)
- WPLLO4-M5C| 35 | 256 - | 5o |80 [M5x08] 79
l/\" WPLLO4-M6C| 45 26.7 11.3 4 15.2 - ’ 90 |M6X1.0 8.3
% WPLLO4-01C | 80 | 29.2 39 | 100 | 80 | Ri/8 | 132
~ WPLLO6-M5C| 35 255 117 6 15.5 - 8.0 104 M5X0.8 85
?f WPLLO6-01C 8.0 29.4 ’ 16.5 3.9 10.0 ’ R1/8 13.7
7 E ) RALORUAHES DBETE
3 Clole
g S| ®
4 - 4
3 =
B o H
? <T| w— R
A=A ezt B c ®D 6P g2 (g)
WPUCO04C 23.0 11.3 4 8.0 2.0
WPUCO06C 244 1.7 6 104 32
C
™y ()
I] Q
’ o s
B

A=A TILR izt B c ¢D ¢d F 6P BHE(9)

WPULO4C 135 11.3 4 32 5.8 8.0 2.1
WPULO6C 15.0 11.7 6 ) 6.5 104 34

3
i

ad

7 oP HE(9)
5.8 8.0 3.1
6.5 104 5.0

N A=AYTA— ezt B
TKY WPUTO04C 13.5
WPUTO6C 15.0

st B c1 c2 [ ¢D1 [ ¢D2 E 6P | BE(9)

WPGJ06-04C | 32.7 12.5 11.3 6 4 12.7 9.0 1.8

L.
!
-

691



WPC-C

AVIRGNIALT Ty 21 U HF
2
SN TER z
E
(mm) G
bl
&
EEE L R B c 6D E 6P HE(0) B
WPLJO4C 235 11.3 4 15.2 8.0 2.0 |
WPLJO6C 25.2 1.7 6 165 104 26 //\
— ' E 7
~
. ‘ c ala A
| SIS 1
— T 7
7
o b
@) 4
A u
@D 1
>
F
A=AvI4 ezt B [¢ éD od F J P BE(9)
WPY04C 29.3 11.3 4 35 12.9 8.2 8.2 34
WPYO06C 31.4 11.7 6 ’ 13.2 10.5 10.4 53
!
I
-
F7VF1=AYIA ezt B F J éP BE(9)
WPYJ04C 45.0 12.9 8.2 8.2 35
WPYJO6C 48.4 13.2 10.5 10.4 55
{ % |
- | 3
ER1=-AY ezt B c1 c2 D1 | ¢D2 | ¢P1 | ®P2 BH8(g) S
WPG0604C 24.1 11.7 11.3 6 4 10.4 8.0 25
SCW
A Q. alg —_—
r,.‘ r_A,? ‘ Q Q MKY
) ‘ 7 TKY
WP
BER1=-AVIA 7 B D2| ¢d | F J | oP1]|oP2|[EE(9) WNS
WPWO06-04C | 30.7 4 | 32 | 129 | 80 | 104 | 80 4.1
WHV
N
> S wu
‘ ) . g
BRISVFIA=AYIA fie=t B éd F J 6P |EE(9)
WPWJ06-04C| 47.8 32 | 129 | 82 | 82 42
1
—

692





